
Exponential model word problems
EXAMPLE #1
[image: ]
B(t) = 2500·℮0.025(4)
B(t) = 2500·℮0.1               put ℮0.1  into your calculator and you get ≈ 1.1051709
B(t) = 2500·1.1051709		multiply 2500 times 1.1051709
B(t)  =  2762.927295  ≈   2762.93

EXAMPLE #2
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B(t) = 1000·℮0.03t  
$1500 =  1000·℮0.03t 	divide both sides by 1000
1.5  = ℮0.03t  		change it to a natural logarithm
ln (1.5) = 0.03 t	divide both sides by 0.03
ln (1.5)  = t
 0.03

EXAMPLE #3
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A =25℮ -0.00012t
20 =25℮ -0.00012t      divide both sides by 25
20 =℮ -0.00012t      		4  =℮ -0.00012t      
25				5				0.8 = ℮ -0.00012t   change it to a natural logarithm

 Ln 0.8	          =  t 	put it into the calculator and you get 1859.5295
-0.00012 

 
EXAMPLE #4
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put it into the calculator and you get 48557.89  round off to the nearest whole number
48,558 people
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Ella deposited $2500 into a savings account.

The relationship between the time, ¢, in years, since the account was first opened, and Ella's account
balance, B(t), in dollars, is modeled by the following function.

B(t) = 2500 - 0%t

What will the balance of Ella's savings account be after 4 years?
Round your answer, if necessary, to the nearest hundredth.
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Yasemin deposited $1000 into a savings account.

The relationship between the time, ¢, in years, since the account was first opened, and Yasemin's account
balance, B(t), in dollars, is modeled by the following function.

B(t) = 1000 - 0%

How many years will it take for Yasemin's account balance to reach $1500?
Round your answer, if necessary, to the nearest hundredth.
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A scientist measures the initial amount of Carbon-14 in a substance to be 25 grams.

The relationship between A, the amount of Carbon-14 remaining in that substance, in grams, and t, the
elapsed time, in years, since the initial measurement is modeled by the following equation.

A — 95¢-0-00012¢

In how many years will the substance contain exactly 20 grams(g) of Carbon-14?
Give an exact answer expressed as a natural logarithm.
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Since 2010, the town of Fall River has been experiencing a growth in population.

The relationship between the elapsed time, £, in years, since 2010 and the town's population, P(t), is
modeled by the following function.

P(t) = 36,800-2"

According to the model, what will the population of Fall River be in 2020?
Round your answer, if necessary, to the nearest whole number.





